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Attempt all questions.

Make suitable assumptions wherever necessary.
Figures to the right indicate full marks.

English version is considered to be Authentic.

Answer any seven out of ten.

Write the empirical formula used to find out the economical transmission
voltage.

Tabulate the commonly used generation, transmission and distribution
voltages

The conductor s which connects the consumer’s terminals to distribution is
known as .

The phenomenon of rise in voltage at the receiving end of the open circuited
or lightly loaded line is known as
Name the various methods for cable laying.

Name the type of insulator that is design for higher tensile strength.

As per IE rules ,maximum allowable variation in voltage at consumer’s end
should be % and that of frequency is %.

The conductor carries more current on the surface as compared to core, is due
to .

If the potential across each disc is same the string efficiency is %.
Write down the function of gay wire.

What for ACSR conductor stands? Why are conductors for transmission line
stranded?
OR
What is the function of line support? What are the main requirements of line
support?
What is sag? What are the factors affecting the sag in transmission line?
OR
What are the important properties that an overhead line insulator must
possess?
State the advantages and limitation of HVAC system over HVDC system.
OR
State various type of HVDC system Explain any one.
Draw and explain the schematic diagram of the 12 plus converter bridge.
OR
Explain the scope and use of HVDC system in India.

Explain the difference between primary and secondary distribution system
OR
Distinguish between feeder and distributor.
State the various method to feed the distributor explain any one.
OR
What is distributed generation? Describe the issues of distributed generation
integrated to distribution grid.
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List the various control equipments used in substation and describe any one.

OR
Draw the layout of control room and also stat the requirement of control room
of sub-station.
A 2 wire distributor cable AB is 1km long, supply load of 200A and 50A
situated 600m and 1000m respectively from the feeding point. If the resistance
of the each conductor is 0.01 ohm per 1000m calculate the voltage at feeding
end point A if receiving end voltage is 230 v at point B.

OR
Explain in brief 3-phase 3-wire and 3-phase 4-wire AC distribution system
with neat diagram.

List out the point to be consider for selection of cable size as per IS. Explain
any two.

OR
Draw the cross sectional view of HSL cable and name its parts. Also state any
three advantages of HSL cable.
What is transposition of transmission line? What is its purpose?

OR
What is corona? Describe the factors affecting corona and corona loss.
A short transmission line has an impedance of( 0.2+j0.45)ohm per phase .The
sending end voltage being 3.3KV/(L-L) and the load at the receiving end being
250KW per phase at a 0.8 p.f. lagging, calculate
i) the receiving end voltage ii) the line current and iii) efficiency.

State the various methods of improving string efficiency and explain any one.
Draw the key diagram of 66kv/11kv distribution substation.

What is FACTS? State its advantages.

Draw the schematic diagram of (1-phase) showing the typical position of
various equipments in the sub-station.

*hkkkhkhkkkikhkikikik

asUcll
gaHl SlEURL Ulctoll welol .

2/5

04

04

04

04

03

03

04

04
07

04
04
03
03

¥



UH. R

U4A. 3

0

5lolllscd ool Al awtal H2o{l S1rlse sjal Al
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AUR SAUTH WU U2 SlBtet A SolRJA2R of ollH AL,
5ot HR BsL UR uRHlellolet ay Ui ay Al AlRAsl IE 3¢t
Yosol % WA (35clcA ARUAUA % 8.
505522 Hi 1R 5cll URZT N UR R 522 dd & %ol
%52 seAlML wlA B,
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aluRal Hi 2w 8?
Wl
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AU cll
HVDC 2lotHldot @2 H otl YUs1RL AUl A S1E5 ULl As cldial.
12 UG (0o sotaldr gl W ALl
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U2t HL AUl (AU 502lc oll ALUA oll ollH AVl M S¢S
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AUl
So2lA 3H oll A-uG2 1R Al AR A Hi Soplct 3H ofl 33latd
adial
1km cioll 56 AB 200 A Aol 50 A AlS o ALRURL 52 B.cls AUl
83 ol WogsN 600m Wl 400 m § W3 V%l €S 50552 ol
VR 0.01 ohm per 1000m &l l *wcUA  ASL ‘A’ oll @ 2.
Als BSL B’ all Al 230 e .

WUl
3-3850% 3-cllaR AU 3-38% 4-cllaR AC BRgeyatet RreH augld
adel.

IS Y¥ ol SUA USRS oSy sl HIZ Lallol Hi Acllotl Y&l SRl Wal
51e5 QL As adal.

AU cll
HSL 3 ol as BE ofl wigld QLAY ol oll ottt WA €1 Wal
HSL 36 oll 2L $LAEL SRl
2lot ot Aol of alotll2llet A2 92 2lert Wl uet 2l HR sl
HL A B.

AU cll
SRetl A2 9? SRloll Wal SRAoll AR A WU $cll UIlolol cdidl.
e 2led Aol Aol ol SEASU (0.2+j0.45 )per phase V. (AL DS
oll AR 3.3 KV(L-L) B ua oL ®st ol AlS 250KW per phase
A UlaR %522 0.8 lagging 8.l
DI lot BsL oll AR% 2) At 522 3) A3RRIRA A

Rol ABREIRA Yural H2 ol Q@AY A cAvll wa 515 ugl As
el

66 KV/11KV Ac22lotall Sl stauouH €lRl.

FACTS A2@ 9J? doil SlAEL Bl

AR 2Uotoll Atlalle{l WHl2let e2laldl RFARS St2ALUH (1-Phase) €L
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